/(OQ KbEc Lf:\ wJ g!xfi] M PLE
s -

PY‘?{’ENDI 7&@ p
el k==

1q9el |

8.

(a) A heavy particle is hung from two points on the same horizontal line and a
distance 2d apart by means of two light, elastic strings of natural length
l., I, and elastic constants kx’ k, respectively. d d.

12 72

In the equilibrium position the two strings make

oy

equal angles 6 with the vertical.
Prove that

d (k, - k)

in @ =
sin kl Il

to leave the platform ?

- k2 12

(b) A horizontal platform, on which bodies are resting, oscillates vertically with

simple harmonic motion of amplitude 0-2 m. :
number of complete oscillations per minute it can make, if the bodies are not

T
{
|
)
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0,6

What is the maximum integral
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